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BT M r IRFfH Kg A Kz EWE  pH AKE DO DO PO,~P NH,~N NO,~N NO,~N COD Vi)
() (m) &) EE (m) (C) (mg/L) (%) (pg/L)  (peg/L)  (ug/L)  (ug/L)  (mg/L)
St.1 8:50 0 S = 16.0 8.1 16.0 33.40 8.9 107.7 1.1 19.4 1.7 53. 4 1.1 7=V V4
E= 5 0 10 8.1 14.5 33.50 8.9 104. 8 2.2 7.7 1.1 97. 2 0.6
10 8.1 13.0 33.59 9.6 109. 3 2.2 11.2 1.1 55. 2 0.5
(33m) B-1 8. 1 10.8 33.53 9.6 104. 8 1.0 9.2 1.7 76. 4 1.0
St.?2 8:31 0 S = 14.0 8. 1 17.3  33.05 8.5 105. 0 2.2 27.9 1.9 67.9 1.0 7=V
TR 5 1 10 8.1 14.0 33.42 8.9 104. 0 1.8 11.1 1.1 97. 1 0.6
10 8.1 12.4 3358 9.2 103.7 2.0 10. 3 1.8 76. 1 0.0
(25m) B-1 8.0 109 33.61 8.3 91. 2 5.7 14. 6 1.4 95. 1 0.6
St.3 9:22 0 S = 12.0 8.1 17.5 32.54 8.4 103.0 2.4 10. 7 1.5 62.0 0.5 7=V V4
b Iy 2.5 0 10 8.1 16.6 33.23 8.5 103. 8 2.9 10.5 1.3 80. 6 —
5 8. 1 14.3  33.35 8.8 103.5 2.2 11.7 1.6 75. 6 0.6
10 8.0 12.8  33.49 8.1 92.5 4.2 15. 4 1.1 108.5 0.6
(25m) B-1 7.8 10.8  33.10 4.8 52.2  12.3 29.9 1.2 110. 7 1.0
St.4 9:07 0 S = 18.0 8. 1 17.2  32.99 8.4 103.0 2.0 10. 6 1.2 50. 6 0.6 7=l
TEAR 2.5 0 10 8.1 15.8 33.38 8.7 104. 6 1.4 10.0 1.8 83.0 -
5 8.1 15.2  33.38 9.1 108. 2 2.3 8.5 1.3 57. 4 0.6
10 8.1 13.2 3352 9.5 108.9 2.6 8.3 0.8 113.0 0.8
(25m) B-1 8.0 10.6 33.65 7.9 86. 5 5. 1 18. 1 1.4 100. 0 0.8
St.5 11:09 0 S = 8.0 8.2 18.3  31.83 0.1 113.4 1.7 10. 1 1.2 60. 4 0.8 7 4-Vvd
Kk 2.5 1 10 EEox 8.1 16.2  33.17 8.9 107. 8 2.1 8.8 0.5 87. 2 -
5 8.1 14.4  33.39 9.3 109. 4 2.1 6.6 0.8 112.8 0.6
(8m) B-1 8. 1 13.4  33.30 9.3 106. 7 2.7 10. 9 1.2 69. 0 0.8
St.6 10:17 0 S = 7.0 8.1 18.5 32.37 8.9 111.4 2.2 11.5 1.2 80.5 0.6 7=V V4
A HERTET 1 1 8 EEH>x 8.1 17.9 32.74 8.9 110.7 1.8 6.5 1.5 99. 0 1.0
5 8.1 14.4 33.36 8.7 102.5 1.1 6.0 0.6 82. 3 1.1
(7m) B-1 8.1 13.2 33.35 8.5 97. 6 2.7 8. 8 1.6 88. 7 1.3
St.7 11:16 0 S = 6.5 8.1 18.2 31.95 8.8 108.9 4.1 15. 2 1.2 70.7 1.1 7=V V4
i 1 1 10 Eox 8.2 17.3  32.68 9.1 111.3 1.4 7.3 1.5 114.6 1.3
5 8.1 14.3  33.38 8.7 102. 4 3.5 7.5 0.6 85. 1 1.0
(6.5m) B-1 8.1 13.9 33,13 8.3 96. 0 4.0 13.5 1.6 111.5 1.4
St.38 9:33 0 S = 11.0 8. 1 17.7 32.60 8.6 106. 4 1.9 7.9 1.4 56. 2 0.6 74—l
HBEIX Y 2.5 0 10 8.1 16.2  33.10 8.1 97. 4 2.1 15. 2 1.5 54. 4 -
5 8. 1 14.2  33.40 8.8 102. 4 0.8 11.1 1.2 67. 2 0.6
10 8.0 12.8 33.48 7.6 87.0 3.7 13.8 1.6 112. 4 0.8
(20m) B-1 7.9 11.2 33,44 6.1 67.7 7.2 16. 6 1.6 98. 7 0.8
St.9 9:59 0 S = 12.0 8. 1 17.7  32.62 8.7 107. 4 1.5 10. 4 1.5 106. 9 1.0 74—V vd
FARX Yo7 2.5 1 8 8.1 15.7  33.20 8.7 104. 2 2.3 9.0 1.2 96. 2 -
5 8.1 14.3  33.35 8.5 99. 8 2.0 10. 4 1.5 63.7 0.8
10 8. 1 12.9 33.48 8.8 100. 2 1.5 11.1 1.5 78. 3 1.0
(20m) B-1 8.0 12.9 33,52 8.1 91. 3 6. 8 12.5 1.4 15.8 1.1
17 (A) 10:36 0 S = 5.0 8.1 18.5 32.00 8.4 105. 3 2.3 8.9 1.4 94. 6 1.0 7 4-Vvd
5 1 9 X - - - - - - - - - -
(5m) B-1 8.1 14.8 33.29 10.3 121.6 3.7 12. 4 1.7 27.2 1.3
K (B) 10:46 0 S = 12.0 8.2 18.1 32.25 0.1 112.6 2.0 7.3 1.5 75.5 1.3 7=V
5 1 10 Eox 8.1 14.4 33.37 8.8 103.8 1.8 9.2 1.4 66. 2 1.1
(12m) B-1 8.1 12.4 33,19 8.5 96. 0 2.3 10. 0 1.6 72.9 0.8




